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QUESTION 1

An OT architect has deployed a Layer 2 switch in the OT network at Level 1 the Purdue model-process control. The
purpose of the Layer 2 switch is to segment traffic between PLC1 and PLC2 with two VLANs. All the traffic between
PLC1 and PLC2 must first flow through the Layer 2 switch and then through the FortiGate device in the Level 2
supervisory control network. 

What statement about the traffic between PLC1 and PLC2 is true? 

A. The Layer 2 switch rewrites VLAN tags before sending traffic to the FortiGate device. 

B. The Layer 2 switches routes any traffic to the FortiGate device through an Ethernet link. 

C. PLC1 and PLC2 traffic must flow through the Layer-2 switch trunk link to the FortiGate device. 

D. In order to communicate, PLC1 must be in the same VLAN as PLC2. 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 

An OT architect has implemented a Modbus TCP with a simulation server Conpot to identify and control the Modus
traffic in the OT network. The FortiGate-Edge device is configured with a software switch interface ssw-01. 

Based on the topology shown in the exhibit, which two statements about the successful simulation of traffic between
client and server are true? (Choose two.) 

A. The FortiGate-Edge device must be in NAT mode. 

B. NAT is disabled in the FortiGate firewall policy from port3 to ssw-01. 

C. The FortiGate devices is in offline IDS mode. 

Latest NSE7_OTS-6.4 Dumps | NSE7_OTS-6.4 PDF Dumps | NSE7_OTS-6.4 VCE Dumps                               2 / 5

https://www.pass4itsure.com/nse7_ots-6-4.html
https://www.pass4itsure.com/nse7_ots-6-4.html
https://www.pass4itsure.com/nse7_ots-6-4.html


https://www.pass4itsure.com/nse7_ots-6-4.html
2024 Latest pass4itsure NSE7_OTS-6.4 PDF and VCE dumps Download

D. Port5 is not a member of the software switch. 

Correct Answer: AC 

 

QUESTION 3

Refer to the exhibit. 

In the topology shown in the exhibit, both PLCs can communicate directly with each other, without going through the
firewall. 

Which statement about the topology is true? 

A. PLCs use IEEE802.1Q protocol to communicate each other. 

B. An administrator can create firewall policies in the switch to secure between PLCs. 

Latest NSE7_OTS-6.4 Dumps | NSE7_OTS-6.4 PDF Dumps | NSE7_OTS-6.4 VCE Dumps                               3 / 5

https://www.pass4itsure.com/nse7_ots-6-4.html
https://www.pass4itsure.com/nse7_ots-6-4.html
https://www.pass4itsure.com/nse7_ots-6-4.html


https://www.pass4itsure.com/nse7_ots-6-4.html
2024 Latest pass4itsure NSE7_OTS-6.4 PDF and VCE dumps Download

C. This integration solution expands VLAN capabilities from Layer 2 to Layer 3. 

D. There is no micro-segmentation in this topology. 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 

An OT administrator ran a report to identify device inventory in an OT network. Based on the report results, which report
was run? 

A. A FortiSIEM CMDB report 

B. A FortiAnalyzer device report 

C. A FortiSIEM incident report 

D. A FortiSIEM analytics report 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit. 
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Which statement about the interfaces shown in the exhibit is true? 

A. port2, port2-vlan10, and port2-vlan1 are part of the software switch interface. 

B. The VLAN ID of port1-vlan1 can be changed to the VLAN ID 10. 

C. port1-vlan10 and port2-vlan10 are part of the same broadcast domain 

D. port1, port1-vlan10, and port1-vlan1 are in different broadcast domains 

Correct Answer: D 
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